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Section 1: Introduction 

 
Exercise level 3 (Extension) 
 

1. Let OA = OB = d 
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Using formula for area of triangle: 
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Vertically for complete flight of particle: 
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2. (i) From question 1, range 
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(ii) 
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   so the other angle is 60°. 

 

(iii) 
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   so for the second angle 
2 2sin 2 sin 2

sin 2 sin 2

2 180 2

90

u u

g g

 

 

 

 



 

   

   

 

 

(iv) From question 1, time of flight 
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    But 90    , so 
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   For the maximum height, 2 2
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3. (i) 
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   so distance 2 3 416 39.2 sin 75 24.01d t t t     

 

(ii)  

 
 

   The spreadsheet shows that d is just over 0.88 when t = 0.46 and 0.47. So  

   it just grazes the envelope then. 

 


